Dopma Ne 3 KOHTPOJIBHOI'O 3AMEPA 110 [IC CYM3-5 Jlara 18.12.2019r.
[Tonoxenue | [TocTosnnbie 1 uac 2 uac 3 uac 4 uac
anuand notepi ToK | +akr |+ peak| TOk | *£akT |£peak| TOK | £aKkT |+peak| TOK | & aKT + peak
Amn | MBr |MBAp| Amn | MBr [MBAp| Amn | MBt |[MBAp| Awn | MBr | MBAp
110 kB APxx 0,039
Ne | AQxx 0,2
15 6 kB 4.2 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 [ 0,00 0 0,00 | 0,00
MBA PITH
110 APxx 0,035
Ne2 AQxx 0,174
2 15 6 kB 74.32 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00
¢ | mBA PIIH
% APxx
2] M AQxx
s | £
o g
é " MBA PITH
= APxx
% Ne AQxx
g
5 MBA PIIH
) 110 kB
2 Hroro
5 6 kB 0 0,00 | 0,00 0 0,00 [ 0,00 0 0,00 | 0.00 0 0,00 | 0,00
3 S g Tok | +akr |+peak| Tok | *akT [£peak| TOK | *aKT |*peak| TOK | & aKT + peak
? Himim [ISE AU Ok Amn | MBr |MBAp| Amn | MBr |MBAp| Amn | MBr Mrl)}/\p Amn | MBt M‘B/\p
S 1C-6 kB
% i [1C Jpo6un.oraen.T-1 4.4 0,000 0,000 0,000 0,000
z | g [1C CrycrnromenT-1 | 846 15 10,169 10 {0112 10 o112 15 10,169
g 2 ll(.: @mlb’l'poa.o‘r/l 153 ) 108 5 0,056 5 0,056 5 0,056 5 0.056
@ [ EHe Mminossooosas-] | g 5| 0056 5 | 0.0s6 5| 0.0s6 5| 0056
2 | § |nonbema ss.l
E é [1C J1po6.otaen. T-1 s14.10 45 | 0,506 45 | 0,506 40 | 0,450 40 | 0450
E = [1C CYM3 1C 413 475 | 5,341 475 | 5,341 470 | 5,285 465 | 5,229
;: E [1C Tenusik 88. 1 s4.13 10 0,112 10 0,112 10 0,112 10 0,112
2 | '@ |IC Pearenrn.orien.T-1 | sn.16 S 0,056 S 0,056 g 0.056 3 0,056
g fj I1C 1P 1C q4.17 215 | 2.418 215 | 2418 200 | 2,249 190 | 2,137
g o |1C LPTT 2C a4.18 180 | 2.024 180 | 2,024 190 | 2,137 200 | 2,249
_é— é Hroro 1C 480 | 10,74 475 | 10,68 465 | 10,51 470 | 10,51
e |s 2C-6 kB
g i [1IC Ouaibrpos o1 T-2 | s4.33 10 | 0,112 10 [0,112 10 0,112 10 10,112
gﬁ < |11C Jlpobun.oraen.T-2 | a4.34 5 0,056 5 0,056 5 0,056 5 0,056
?ﬁ :; [1C Tennsik B8.2 A4.35 0,000 0,000 0,000 0,000
§. ;{ SAKHO Ne8 14.36 & 0,056 5 0,056 5 0,056 5 0,056
o1 i Riimennl 4 20 {0225 20 {0225 20 |0225 15 | 0.169
5 | T juoaneva s 2
= = [1C Crycrur.omnen. T-2 | 84.38 30 | 0,337 30 .1 0337 30 | 0,337 35 | 0.394
8 |5 JHC CyM32C 514.39 500 [ 5.623 500 | 5.623 505 | 5,679 510 | 5,735
2 | & |IIC Pearenrn.oraesn. T-2 s14.42
g I1C L(PIT1 3C 14.45 210 | 2,361 230 | 2,586 230 [ 2,586 230 | 2,586
i [1C LPIT4C A4.46 200 | 2,249 180 | 2,024 180 | 2,024 190 {2,137
é I1C JlpoGun.oraen.T-2 a4.48 20 0,225 20 0,225 20 0,225 20 0.225
2 Nroro 2C 500 [ 11,25 500 | 11,25 500 | 11,30 510 | 11,47
’:—‘:" Harpyska CK, MBAp No
= Barapes CK, MBAp No
2 110 kB
£ | Hanpsketine
g Ha WMHaX s o3 63 05 55
& Ne | | | | |
% Ne2 [ | [ [
Cos @ o
Ne
A Puep + A jQuep 0000 +j 0000]0000 +j 0000}0000 +j 0000}0000 *) 0.000
lpr?mn‘:nnblc’lvl.O'l'Ltp’M * A Pnep + A jQuep 0 1] 0 0 3] 0 0 * i 0 0 + ] 0
lpdm.(];\(jl[;;xuopd,\. A Puep + A jQnep +] +J: + l g
A Prep + A jQuep 22 + ] + ] +)
Uk% | APx3, MBr S\eT1 004 +j 020]004 +j 0201 0,04 +j 0,20 | 0.04 +j 0,20
T-1] 1021 0,11266 SNeT2 0,00 +j 000] 000 +j 0.00 | 0.00 +] 0,00 | 0,00 +j 0,00
Tl 114 0.126 Sxet3 +j +] r +
SNeT4 + + + §
Qy 004 +j 020 004 +j 020]004 +j 0201004 +j 020
3amep nposell
[TPUMEYAHHUE + HanpaBaeHie 10TOKA K WhHam /et - HANPABJCHHC N10TOKA OT LWHIL N/CT
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S yac 6 yac 7 uac 8 yac 9 wac 10 vac 11 vac
Tok | +akrt |+peak| Tok | *akT |£peak| TOK | &aKT +peak| TOK [ *akr |+ peak| TOK +akr |+ peak| Tok | £aKkT |£peak| TOK | £aKT |+ peak
Awn | MBr [MBAp| Awn | MBr |[MBAp| Amn | MBt |MBAp] Awi MBr [MBAp| Amn | MBr [MBAp| Awn | MBr [MBAp| Awn | MB1 MBA
0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0.00 0 0,00 | 0.00
0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0.00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00
0 0,00 | 0,00 0 0,00 | 0.00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0.00 0 0,00 |{ 0,00 0 0,00 | 0,00
Tok | akr |+peak| Tok | *akT |+peak| TOK | *aKT +peak| TOk | *akr |+ peak| TOK | *aKT |&peak| TOK +aKkT |+ peak| TOK | & aKT |+ peak
Awn | MBr |MBAp| Amn | MBr [MBAp| Amn | MBr MBAp| Awn | MBr |MBAp| Awn | MBr |[MBAp Amn | MBt [MBAp| Amn | MBr [MBA
0,000 0,000 0,000 0.000 0,000 0,000 0,000
10 {0,112 15 10,169 15 110,169 15 ]0.169 15 ]0.169 15 10,169 15 |0.169
5 0,056 5 0,056 10 10,112 > 0,056 S 0,056 10 6112 10 L0112
5 0,056 5 0,056 10 0,112 10 | 0,112 0,056 10 {0,112 10 {0,112
40 | 0450 40 | 0450 40 | 0,450 15 | 0,169 55 10618 35 (0,394 50 | 0,562
470 | 5.285 465 | 5,229 460 | 5,173 430 | 4,835 430 [ 4.835 420 [ 4,723 480 | 5.398
107 59,112 100 10,112 15 10,169 20 | 0225 20 | 0,225 20 110225 30 |0,337
5 0,056 5 0,056 e 0,056 5 0.056 5 0,056 5 0,056 3 0,056
195 12,193 190 | 2,137 200 | 2,249 200 | 2,249 160 | 1,799 160 | 1,799 195 1 2,193
195 | 2,193 200 | 2,249 170 11,912 160 | 1.799 165 | 1,855 165 | 1,855 160 | 1.799
465 | 10,51 470 | 10,51 465 | 10,40 430 | 9,67 430 | 9,67 420 | 945 475 | 10,74
10 | 0,112 10 | 0,112 15 | 0,169 5 0,056 5 0,056 S 0,056 5 0,056
3 0,056 5 0,056 ) 0,056 5 0,056 § 0,056 3 0,056 > 0,056
0,000 0,000 0,000 0,000 0,000 0,000 0,000
5 0,056 S 0,056 10 (0,112 50 | 0,562 45 10,506 3 0,056 5 0,056
20 [10:225 15 0,169 15 10.169 20 | 0,225 20 | 0,225 20 | 0,225 20" ‘10225
30 10,337 35 10,394 2010235 5 0,056 5 0,056 5 0,056 5 0,056
520 | 5.847 510 | 5,735 470 | 5,285 440 | 4.948 480 | 5,398 480 | 5,398 480 | 5.398
230 | 2,586 220 | 2,474 210 | 2,361 210 | 2,361 180 | 2,024 220 | 2474 220 | 2474
190 | 2,137 190 | 2,137 170 | 1,912 125 | 1,406 200 | 2,249 200 | 2,249 200 | 2,249
30 10,337 30 | 0337 30 | 0337 20 | 0,225 20 ] 0,225 20 10225 20 [ 0,225
520 | 11,69 510 | 11,47 475 | 10,63 440 | 9,90 480 | 10,80 480 | 10,80 480 | 10,80
6,5 6,5 6,5 6,5 6.5 6,5 6.5
| | 1 | | | |
1 | | | | 1 |
0,000 +j 0,000 | 0,000 +j 0,000]0000 + j 0,000]0,000 + i 0,000]0000 +j 0,000 | 0,000 +j 0,000 f 0,000 +] 0,000
0 +j 0 0 +j 0 0 5y 0 0 N 0 0 Gl 0 0 i 0 0 31 0
#] | + ] s 3| +j il + )
*+ + t ) +] ] dl
0,04 +] 0,20 | 0,04 +] 0,20 | 0,04 $ 0,20 | 0,04 +) 0,20 | 0,04 +] 0,20 | 0,04 + 0,20 | 0.04 + 0,20
0,00 +] 0,00 | 0,00 +] 0,00 | 0.00 + 0,00 | 0.00 +1 0,00 | 0,00 +j 0,00 | 0.00 +i) 0.00 | 0,00 o 0,00
2l *] ] t b = t
il el il 28 ) ) f
0,04 Hi 0,20 | 0,04 ok 0,20 | 0,04 + 0,20 | 0,04 e 0,20 | 0,04 g 0,20 | 0,04 + j 0,20 | 0,04 + 0,20




12 gac 13 uac 14 uac 15 yac 16 uac 17 uac 18 uwac
Tok | £akrT [+ peak| Tok | *akT [+peak| TOk | *akT [*peak| TOK | *aKT |+ peak| TOK +aKT |+ peak| TOK | £aKT |+peak| TOK | +aKT |+ peak
Awmn | MBr |[MBAp| Awn | MBr [MBAp| Amn | MBr |[MBAp] Amn | MBr |MBAp] Awmn MBTt {MBAp| Amn | MBr |[MBAp| Awn | MBt |MBAp
0 0,00 [ 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 { 0,00 0 0,00 | 0,00 0 0,00 | 0,00
0 0,00 | 0,00 0 0,00 [ 0,00 0 0,00 [ 0.00 0 0,00 | 0,00 0 0,00 | 0,00 0 0.00 | 0.00 0 0.00 | 0,00
0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0.00 0 0,00 | 0.00 0 0,00 | 0,00
Tok | £akr |+peak| Tok | *akT |+peak| TOK | +aKT |*peak| TOK +akT |£peak| Tok | *aKT [£peak| TOk | +aKkT |£peak| TOK | EaKkT |+ peak
Amn | MBr |MBAp| Amn | MBr [MBAp| Amn | MBr |MBAp| Awn MBt |MBAp| Amn | MBr |MBAp| Awn | MB1 [MBAp| Awn | MBr |MBAp
0,000 0,000 0,000 0,000 0,000 0,000 0.000
10 | 0,112 10 | 0,112 10 [0,112 10 0,112 10 | 0.112 10 10,112 10 {0,112
15 | 0,169 15 10,169 15 110,169 20 | 0,225 5 0,056 5 0,056 5 0,056
10 0,112 10 {0,112 15 | 0,169 20 | 0,225 10 [0,112 10 10,112 10 | 0,112
5 0,056 5 0,056 5 0,056 5 0,056 50 | 0,562 50 [ 0,562 50 | 0,562
410 | 4,610 410 | 4,610 420 | 4,723 470 | 5.285 470 | 5,285 465 | 5,229 470 | 5.285
25 10:28] 15 |.0i169 35 110,394 30 .1.0,337 15 10,169 15 10,169 15 | 0,169
5 0,056 5 0,056 8 0,056 5 0,056 5 0,056 S 0.056 5 0,056
200 | 2,249 200 | 2,249 200 | 2,249 200 | 2,249 200 | 2,249 200 | 2,249 200 | 2,249
140 | 1,574 130 | 1,462 135 | 1,518 180 | 2,024 170 §i 15912 170 | 1,912 170 | 1,912
410 | 9,22 390 | 9,00 420 | 9,45 470 | 10,57 465 | 10,51 465 | 10,46 465 | 10,51
5 0,056 10 [0,112 5 0,056 5 0,056 ) 0,056 5 0,056 5 0,056
5 0,056 5 0,056 5 0,056 5 0,056 5 0,056 5 0,056 5 0,056
0,000 0,000 0,000 0,000 0,000 0,000 0,000
10 |0,112 50 0,562 25 ]0,281 15 | 0,169 10 |0,112 10 ]10,112 15 10,169
20 | 0,225 20 | 0,225 20 {0,225 20 | 0,225 20 | 0,225 20 | 0,225 20 |10,225
10 | 0,112 15 10,169 5 0,056 5 0,056 15 | 0,169 15 10,169 10 0,112
440 | 4,948 460 | 5.173 490 | 5,510 470 | 5,285 490 | 5,510 490 | 5,510 490 | 5510
220 | 2,474 200 | 2,249 220 | 2,474 220 | 2,474 220 | 2474 220 | 2474 220 | 2,474
140 | 1,574 130 | 1,462 190 | 2,137 180 | 2,024 200 | 2,249 200 | 2,249 200 | 2,249
30, | 0337 30 | 0,337 20 | 0,225 20 | 0,225 20 |0225 20 | 0,225 20 | 0,225
440 | 9,90 460 | 10,35 490 | 11,02 470 | 10,57 495 | 11,08 495 | 11,08 495 | 11,08 J
6.5 6.5 6.5 6.5 6.5 6.5 6.5
1 1 | | | | |
| 1 1 | | | I
0,000 +j 0,000]0000 +j 0,000 | 0,000 +j 0,000]0,000 +j 0,000 0,000 +j 00000000 +j 00000000 +) 0,000
0 +i 0 0 4 0 0 +] 0 0 + ] 0 0 + 0 0 +] 0 0 43 0
sl +] tJ +) +) tJ i
+ + i +i + +j + | +
0,04 + ] 0,20 | 0,04 +j 0,20 | 0,04 + 0,20 | 0,04 + ) 0,20 | 0.04 +) 0,20 | 0,04 + 0,20 | 0,04 + 0.20
0,00 +) 0,00 | 0,00 +1 0,00 | 0,00 tr 0,00 | 0.00 vl 0,00 | 0,00 +) 0,00 | 0,00 + j 0,00 | 0,00 + ] 0.00
+] +j o] +] + ] + ] ]
+j + +i + ] shiy N t
0,04 + 0,20 | 0,04 Ll | 0,20 | 0,04 + j 0,20 | 0,04 + § 0,20 | 0,04 i | 0,20 | 0,04 2o | 0,20 | 0,04 £ 0,20




19 yac 20 yac 21 yac 2 yac 23 uac 24 uac
Tok | +akT |+peak| Tok | *akr |+peak| TOK | £aKT [+ peak| TOK | &akT +peak| TOK | *aKkT |+ peak| TOK | +aKkT |+ peak
Awn | MBr {MBAp| Awn | MBr [MBAp| Amn | MBr |[MBAp| Amn | MBr MBAp| Amn | MBt [MBAp| Amn | MBr |MBAp
0 0,00 | 0,00 0 0,00 | 0,002 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00
0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 [ 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00
0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0,00 | 0,00 0 0.00 | 0.00
TOK + aKT |+ peak| TOK + aKT | £ peak| TOK + aKT |+ peak| TOK + aKT [+ peak| TOK + aKT | £ peaxk| TOK * aKkT | + peax
Amii | MBr |MBAp| Amn | MBr [MBAp| Amn | MBr |[MBAp| Awmi MBt |MBAp| Amn | MBt |[MBAp| Awin | MBr1 |MBAp
0,000 0,000 0,000 0,000 0,000 0,000
10 10112 10 | 0,112 10 J50:112 10 10,112 10 0,112 10 | 0,112
5 0,056 5 0,056 9 0,056 5 0,056 5 0.056 5 0,056
5 0,056 10 | 0,112 5 0.056 5 0.056 5 0,056 5 0.056
5 0,056 5 0,056 50 | 0,562 50 | 0,562 45 | 0,506 50 | 0,562
420 | 4,723 420 | 4,723 440 | 4,948 440 | 4,948 450 | 5,060 450 | 5,060
15 10,169 15 10,169 10 | 0,112 10 ]0,112 15 (0,169 15 [0,169
5 0,056 5 0,056 5 0,056 5 0,056 5 0,056 S 0,056
200 | 2,249 200 |2.249 200 | 2,249 200 | 2,249 200 | 2,249 200 | 2,249
160 | 1,799 160 | 1,799 160 | 1,799 160 | 1,799 160 | 1,799 160 | 1,799
405 | 9,28 410 | 9,33 445 | 9,95 445 | 9,95 445 | 10,06 450 | 10,12
5 0,056 ] 0,056 S 0,056 S 0,056 10 {0,112 5 0,056
5 0,056 5 0,056 5 0,056 5 0,056 5 0,056 > 0,056
0,000 0,000 0,000 0,000 0,000 0,000
5 0,056 5 0,056 10 0,112 10 10,112 10 | 0,112 5 0,056
20 | 0,225 20 | 0,225 20 | 0,225 200 | 0,225 20 | 0,225 20 | 0225
15 | 0.169 15 10,169 10 [0.112 15 | 0.169 10 ]0,112 15 ]0,169
420 | 4,723 420 | 4,723 420 | 4,723 440 | 4,948 480 | 5.398 480 | 5,398
210 12,361 210 | 2,361 220 | 2,474 220 | 2,474 210, |:2.361 210 | 2,361
130 | 1,462 130 | 1,462 130 | 1,462 135 | 1,518 190 | 2,137 190 | 2,137
25 |0,281 25 ] 0281 20 | 0,225 20 | 0,225 20 | 0,225 25 | 0,281
418 | 9,39 415 | 9,39 420 | 9,45 430 | 9,78 475 | 10,74 475 | 10,74
6,5 6.5 6,5 6,5 6,5 6.5
| 1 1 1 | |
1 1 1 1 1 1
0000 +j 0000]0000 +j 0,000]0000 + j 00000000 +j 0,000]0000 +) 0,000 | 0,000 +j 0,000
0 2ok 0 0 + 0 0 i 0 0 + 0 0 +] 0 0 + 0
+ +) tJ o2 *) =]
+ sfai) +) =1 + ] +
0,04 %) 0,20 | 0,04 + 0,20 | 0,04 & 0,20 | 0,04 +] 0,20 | 0,04 +1 0,20 | 0.04 1 0,20
0,00 s} 0,00 | 0,00 S 0,00 | 0,00 e 0,00 | 0,00 +] 0,00 | 0.00 +] 0,00 | 0,00 + ] 0,00
08 +) +) +) i )
+ £ ) + +] * ]
0,04 + 0,20 | 0,04 £ 0,20 | 0,04 + i 0,20 | 0,04 + j 0,20 | 0,04 it 0,20 | 0,04 | 0,20




